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Note : This paper is of Hundred (100) marks divided into

two (2) Sections, 'A' and 'B'. Attempt the questions

contained in these sections according to the detailed

instructions given therein.

;g iz'u i= lkS ¼100½ vadksa dk gS tks nks ¼2½ [k.Mksa ¼d½ rFkk

¼[k½ esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa

ds vuqlkj gh iz'uksa dks gy djuk gSA

SECTION—A

(Long Answer Type Questions)

Note : Section 'A' contains five (5) long answer type

questions of Twenty Six (26) marks each. Learners

are required to answer any two (2) questions only.

2 × 26 = 52
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[k.M ¼d½ esa ik¡p ¼5½ nh?kZ mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, NCchl ¼26½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy nks ¼2½ iz'uksa ds mRrj nsus gSaA

1. Explain the nature, causes and solutions of

unemployment.

csjkstxkjh dh izÑfr] dkj.k vkSj funku ds mik; crkb,A

2. The economic system in India has failed. Do you agree

with this statement? Answer with reasons.

^^Hkkjr esa vkfFkZd O;oLFkk foQy jgh gS** D;k vki bl dFku ls

lger gSa\ dkj.k lfgr mÙkj nsaA

3. What types of means of transfer are there from the

central government to the states in India?

Hkkjr esa dsanzh; ljdkj ls jkT;ksa dh vksj gLrkUrj.k ds fdl

izdkj ds lk/ku gSa\

4. Throw light on the rationale of planning and the conditions

for its success in underdeveloped countries?

vYifodflr ns'kksa esa fu;kstu ds vkSfpR; ,oa mldh lQyrk

dh 'krksZa ij izdk'k Mkfy,\

5. Why does regional inequality arise? Explain the

measures to remove these inequalities in the context

of Uttarakhand?

{ks=h; vlekurk D;ksa mRiUu gksrh gS\ bu vlekurkvksa dks nwj

djus ds mik; mÙkjk[k.M ds lUnHkZ esa le>kb,A
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SECTION—B

(Short Answer Type Questions)

Note : Section 'B' contains eight (8) short answer type

questions of Twelve (12) marks each. Learners are

required to answer any four (4) questions only.

4 × 12 = 48

[k.M ¼[k½ esa vkB ¼8½ y?kq mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, ckjg ¼12½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy pkj ¼4½ iz'uksa ds mRrj nsus gSaA

1. Write a note on the relevance of economic planning in

India.

Hkkjr esa vkfFkZd fu;kstu dh izklafxdrk ij ,d fVIi.kh fyf[k,A

2. Give details of the schemes run by the state government

for the welfare of the tribes of Uttarakhand?

mÙkjk[k.M dh tutkfr;ksa ds dY;k.k ds fy, jkT; ljdkj

n~okjk lapkfyr ;kstukvksa dk fooj.k nsa\

3. Briefly explain the benefits and objectives of various

five year plans?

fofHkUu iapo"khZ; ;kstukvksa ds ykHkksa vkSj mís';ksa dks laf{kIr esa

crkb;s\
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4. Write a note on low fiscal deficit.

U;wu foÙk izcU/k ?kkVs ij fVIi.kh fyf[k,A

5. What were the reasons for failure in planning in

Uttarakhand?

mÙkjk[k.M esa fu;kstu esa vlQyrk ds dkj.k D;k jgs\

6. Give a brief description of the National Rural

Employment Scheme Act 2005.

2005 jk"Vªh; xzkeh.k jkstxkj ;kstuk vf/kfu;e dk laf{kIr

fooj.k nhft;sA

7. Analyze the planning strategy in the context of

Uttarakhand.

mÙkjk[k.M ds lUnHkZ esa fu;kstu dh j.kuhfr dk fo'ys"k.k

dhft;sA

8. Give suggestions for improving federal finance in India.

Hkkjr esa la?kh; foÙk esa lq/kkj gsrq lq>ko nhft;sA

*************
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